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1. 40; 55- 2. Ey 38- 3. (a+b)9 h, (a+b> hy (a+b) h+2.
4. <, =, <, >. 5. 11. 6. 150 - 5x.

7. 40; 16.5. 8. 0.136, 0.14. 9. HERK, FEEK.

10. 139.8. 11. 24, 24. 12. 10.

. REMER, EFAR. (FEET CV7, BT “&#215.7, F£590)
13. X. 14 4. 15. 4. 16. v. 17. X.

=, fFST, HERE. CRERERNFSHEERSE, 104D
18. C. 19. B. 20. B. 21. 4. 22. C.

. BEEE, @OrE. (3E26 40

23. (84p) HEER.
[ A

0.5X0.4=0.2 5.6+0.56=10 9.6+0.1=96 10 - 0.8X10=2
1+5=02 6y - y=>5y 8% 1.25=10 2.8+3.2+4=10
24. (64)) 1.89+54=035 25X17=42.5  *7.56+2.9~2.61
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25. (6491 fRTFE.
[R2] fiR: (1) 6x-9=45
6x - 9+9=45+9
6x=>54
6x+6=54+6

x=9

B
p=i
H
Y
p=i



R HE, Bk FERL 8. 15197399912 H2£ www.maths8

(2) 6.3+x=7
6.3+—xXx=7Xx
7x=6.3
Ix+7=63+7
x=0.9
(3) (100 - 3x) +2=8
(100 - 3x) +2X2=8X2
100 - 3x=16
100 - 3x+3x=16+3x
16+3x=100
16+3x - 16=100 - 16
3x=84
3x+3=84+3
x=28
26. (1)3.72X2.5X0.4
=3.72X (2.5X0.4)
=3.72X1

=3.72

(2)8.3X99+8.4

=8.3X (100-1) +8.4
=8.3X 100 - 8.3X 1+8.4
=830 - 8.3+8.4

=830+ (8.4-8.3)
=830+0.1

=830.1

(3)2.07X4.9-2.07X1.9
=2.07X (49-1.9)
=2.07X3

=6.21
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f. EEEE, hFRE. 5
27. (541

0o 1 2 3 4 5

WMERN: (0, D; 4, 1).
75 TEFHENR, RRiEE. (G855, 3304
28. fi#t: 18X3X65.8

=54%65.8

=3553.2 (J5)

% —ILERE 3553.2 .
29. fif: BONERES BT xOK,

20 X 80+9x=2050

1600+9x=2050
9x =450
x=50

% NERES BT 50 K.
30. f#: (10-4) X102

=6X10+2

=30 CPFI7HEXD

% BIREH THAR N 30 705 oK.
31. fig: (30-10) X10+2

=20X10+2

=200+2

=100 CFFK)

e XSRS 100 “FJ7K.
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32. fi#: 100X 1+ (153 -100) X0.8
=100+42.4
=142.4 (J0)
% WEAT 1424 L.
33. fi#: (1) 1000+6.49~154.08 (3£I0)

Z: 1000 o AR T RZ AT LS 154.08 7T

(2) 710X6.49=4607.9 (J©.)
6800X0.83=5644 (JL.)
4607.9<<5644
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